70 SQUARE PUZZLES

Each 70 Square Puzzle consists of a square grid (either 3x3
or 4x4) with numbers appearing in each square.

Add one additional digit fo some of the cells so that the
sum of the numbers in each row and each column

equals 70.
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PUZZLE - 31 70 PUZZLE - 32

5948 83|11
2 1113 3153
31|12 115 31
4 4 2|6 11211
2 211 111,36
8623 11223
11221 4 1,48
31215 11221
31111 2112
11322 224 2
11622 6 4 4 1
82 3|7 11482
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PUZZLE - 37 70 PUZZLE - 38
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PUZIZLE - 43 70 PUZIZLE - 44

36|11 2 2 1|9
111121 61|22
113(1]9 11331
20212 11252
2125 1144 2
11222 41921
11112 11132
2111 11137
2 1/8|2 713 (3|1
2111 6 1|64
22 1|1 33|12
4 1 3|1 22 26
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PUZIZLE - 49 70 PUZZLE - 50

62|12 22 3|1
31|12 2133
1131 11172
11321 51321
2 2 1|4 11316
51|54 2 5/5|3
27 2|1 2 9 11
11222 512 3|1
2 21,3 11216
7131 11922
29|72 36|33
11212 20229

Sarah Carter | @mathequalslove | mathequalslove.net | M+ A + T + H = an,



PUZILE - 55

PUZZLE - 56

IER IS

AIN=DN

NIBAININ|

NN == | =

- W WwIN|

NN | == | =

ah_nws

0 W N | 0

3
7
3
1

Or | = | QO | =

(h—IN—IS

arah Carter | @mathequalsiove | mathequalsiove.net | M+ A + T + H = an,

1
2
1
1




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

